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Measure perimeter

@ vnot i the tength of each line?

e How long is the pencil?

3 5 6 7 8 9 10 11 12

€ Dexter is measuring the length of a fine.

1 think
that the line is
2.6 cm long.

Do you agree with Dexter?
Explain why.

o Measure the sides of the shape to work out the perimeter.

=

e By measuring, work out the perimeter of these shapes.

—

L]

L1

@ complete the shape so that it has o perimeter of 156 em.

RO

Reason: 3,5,7

o Draw a quadrilateral and pentagon with a perimeter of 10 cm.

o Sort the shapes into the correct categories.

o'y

Regular

Irregular

Perimeter less
than 10 cm

Perimeter greater
than 10 em

L/




Measure perimeter

e Dexter is measuring the length of a line.

&

1 think
that the line is
2.6 cm long

o What is the length of each line?

G} O} b l \
~ Do you agree with Dexter? Mo @
1 2 - Exploin why.

honet g

o By measuring, work out the perimeter of these shapes.

° Draw o quodrilateral and pentagon with a perimeter of 10 cm. @
a)

Vasioun  onswers
b)

€ How long s the pencil?

2 a 6 7 8 9 10 11 12

C

o Sort the shapes into the correct categories.

|

e Complete the shape so that it has a perimeter of 15.6 cm.
Vorious angwers

KO

Regular Irregular
Perimeter less
‘than 10 cm E % C
Perimeter greater
than 10 cm A b




Measure perimeter

fTrue or Falhse ?

To measure the perimeter of any shape,

you need to measure all of the sides.

Discuss
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WALT: calculate the perimeter on a grid

7 O

BEE

[) 18.cm 2) 20.cm

o /

If you correctly answered all of the mega

challenge .questions, .move on to the class
questions.

If you did not answer all the mega

challenge correctly, stay mwith me to learn

morClass questions - see next slide!
REASON AND PEER MARK FOR EVERY QUESTION!
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Calculate the perimeter.




White
Perimeter on a grid . o Which of the hexagons has the greatest perimeter?

Show all your workings.
A B

Ttem [T 17 Jrem
@ Work out the perimeter of each rectangle. Reason: 1b, 2, 5,7

) Trem
Shape ___ has the greatest perimeter.
b)
Ttem €D braw two different rectangles with a perimeter of 14 cm.
o Work out the perimeter of the shape. ° ‘Work out the perimeter of the rectangle.

. i 1o
9 Trem

g — —

o A shape is drawn on a square grid.

@ Drow two shapes with a perimeter of 20 cm. pare of.the shops is niddan

Your shapes should not be rectangles. Tem ]

|cm1

What could the perimeter of the shape be?
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Perimeter on a grid = o Which of the hexagons has the greatest perimeter?

- ANSWERS

Jtem [T T] J1em

o Work out the perimeter of each rectangle.

a)
Shape A hos the greatest perimeter.
b) I1 cm - E s s
@ Work out the perimeter of the shape. @ Work out the perimeter of the rectongle.
1em | 1em ]

o A shape is drawn on a square grid.

Part of the she is hidden.
© brow two shapes with o perimeter of 20 cm. Q shape is hidden

Your shapes should not be rectangles. 1an I
e9

]

What could the perimeter of the shape be? @

Is there more thon one answer? @




Plenary

o Work out the perimeter of the shape.

tem I || HEEEE

H.omw L wWork it out?

(@

Discuss
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WALT: ' of r

/ 2) Have a think m \

1)
6cm 14 cm

9 cm

22 cm

2cm
\ 40 cm /

If you correctly answered all of the mega

challenge question, mowve on to the class
questions.

If you did not answer all the mega challenge
correctly, stay with me to learn more.

Class questions - see next slide!
REASON AND PEER MARK FOR EVERY QUESTION!




Perimeter of a rectangle

o Work out the perimeter of each rectangle.

a) 1em

ten

a 7cm b) act
) (m]iI s
——

Everyone must get
to number four so
we can reason it
together.

b 4cm d) 2 km

o Tommy is working out the perimeter of some rectangles.

8 cm
Bem+5em=13cm
e 13emx2=26cm

Perimeter of a rectangle ;“' '
/

o 4 cm d) 2 km

- L
all
° Tommy is working out the perimeter of some rectangles.

Bem+5cm=13cm
13 emx2=26em

Use Tommy's method to find the perimeter of
these rectangles.

5 cm 10 cm

@) b)
4CMIC| 5:m[-

Y
S

Reason: 2, 4

RR: 4

g ° Each lolly stick is 8 em long.

Find the perimeter of the shape.

o Each of these rectangles has a perimeter of 24 cm.
‘Work out the missing lengths and label the diograms.

) 10 cm a

Rt

"o

What do you notice?
Find any other rectangles that have the same perimeter.

5cm
P

[Hem

@




1cm

1ch» |

4cm

Sch




2cm

6cm

WE DO
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Perimeter of a rectangle P
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0 Work out the perimeter of each rectangle
" 1m P Answers

a) b)

e — AL o

7em 3¢“‘\

L LPFSN o PSS

° Tommy is working out the perimeter of some rectangles. ° Each lolly stick is 8 cm long.

8cm Find the perimeter of the shape.
—
5cm 8cm+5cm=13cm
- 13emx2=26cm

Use Tommy's method to find the perimeter of

these rectangles.
a
d 5cm e Each of these rectangles has a perimeter of 24 cm.
Work out the missing lengths and label the diagrams.
4cm
a) a
10 cm

b) 10 cm b

%

5cm

Bl
What do you notice?
Find any other rectangles that have the some perimeter. @




Year 5 radical reasoning

Each lolly stick is 8 cm long.

Find the perimeter of the shape.

Work it out: Q\

A

~/

Key Vocabulary:

Explain: How did | do it and how
did | know what to do?

~N



7 cm

2 cm

Create instructions to calculate
the perimeter.
Ls there .more that one w.oy?
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7/ 6cm

L] 4 cm

L] 7 cm

5cm
3cm

l1cm
‘\\ 7cm+6cm+4cm+5cm+3cm+1cm 26
t '/

1P you correctly answered all of the mega

challenge question, mowve on to the class

_questions.

If you did not answer all the mega challenge

,oof.rzowé /sba,g Muﬂ'\. me ,to ,Lea.rn more.
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REASON AND PEER MARK FOR EVERY QUESTIONI




Perimeter of rectilinear shapes

o The length of each square on the grid is 1 cm. @ work out the perimeter of each shape. =
Work out the perimeter of the shapes. a) b) 12 cm ,
) 6 — b= 0 2
; o]
9em Sem
—
4.cm

° Mo puts two S cm by 3 cm rectangles next to each other.

5cm 5em

— The perimeter of -
s 3 m\] ‘each small rectangle is 16 cm,
€ Work out the perimeter of the shape. &+ 50 the perimeter of my -
larger rectangle must be
5cm o 2% 16 cm = 32 em.
8am) a) is Mo correct?
g me Work aut the perimeter of the larger rectangle to check
your answer.

° @) Work out the missing lengths.

eter of rectilinear shapes

I White
b) What is the perimeter i ~
of the shape? /
@ work out the perimeter of each shape. © oo thinks there isn't enough information to work out the g
perimeter of the shape.

o b) 12.cm
13 . % ""I 12em
——
9em o
2cm
—
Zicm) 10 em
Zam
© Mo puts two 5 cm by 3 cm rectangles next to each other.
Is Dani correct?

S5cm 5cm

[
a) Is Mo correct? o

Work out the perimeter of the larger rectangle to check

The perimeter of Explain your answer.
‘each small rectangle is 16 cm,
so the perimeter of my
larger rectangle must be
2x 16 cm = 32 cm.

C O

@ A rectangular flower bed is 5 m long and 3 m wide.
The path oround the flower bed is 1 m wide

your answer. ﬁ
b) Mo puts the rectangles together in different ways.

Wark out the perimeter of each large shape. e

5cm 3cm
3cm e ) What is the perimeter of the flower bed?
e b) What is the perimeter of the outside of the path?

—— 2 :m[
S5cm
=
5cm

© White Rose Moths 20




ANSWERS

o @) Work out the missing lengths ond label them on
the diagrom,

Perimeter of rectilinear shapes

@ e tengih of each square on the grid is 1 am.
Work out the perimeter of the shapes.

a) T b

—_—t
acm

b) Whot is the perimeter of the shape?

] F—.
@ Work out the perimeter of the shape. © Mo puts wo 5 am by 3 cm rectangles next to each other. @ oani thinks there isn't enough information to work out the g
10 5em 5.m perimeter of the shape.
—_— 12em
3em
5em
8em The perimeter of
"each small rectangle is 16 em, 10 cm

so the perimeter of my
larger rectangle must be

2x 16 em = 32 em. Is Dani correct? Mo

@ Explain your answer. @

a) Is Mo correct? b

Work out the perimeter of the larger rectangle to check @~ rectongulor flower bed is 5 m long and 3 m wide. g
your answer. The path oround the flower bed is 1 m wide.

b) Mo puts the rectangles together in different ways. ’5,3
‘Work out the perimeter of each large shape. *

3em

5cm
—_— P
3em a) What is the perimeter of the flower bed?
5em
3em
—_— 3em
5em

b) What is the perimeter of the outside of the path?
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1ch
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3cm

2cm

5cm

2cm+3cm+ 3em+2cm +5cm+ 5ecm= 20cn
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(02100 4 02:50)

6cm

4 cm

5cm
3cm

1cm

7ecm+eecm+4cm+5ecm+3cm+1cm=26cm
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Plenary

Mo puts two 5 cm by 3 cm rectangles next to each other.

‘Scm::Sr.m:

S
©

M.o is not correct.

Why not?

The perimeter of
each small rectangle is 16 cm,
so the perimeter of my
larger rectangle must be
2x 16 cm =32 cm
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[f o eorrectly aneworod all of the mega

challenge question, .mowve on to the class L

Questions. 1

If you did not answer all the mega challenge

correctly, stay with me to learn more. _
| Class questions - see next slide! o

REASON AND PEER MARK FOR EVERY QUESTION!‘




White

Calculate perimeter ! o Calculote the perimeter of these shapes.

a) 8cm
—b
]cm‘- g
w— ]
8om
1em

5 . Reason: 2, 5,
" 15 o 18

EEEaEzl ‘\ 6, 7
EREN =

© cocuiote the perimeter of each shape

13

[ ]

i @ vwork out the missing lengths on these shapes. @) o thinks that there is not enough information to calculate the
— A W perimeter of the shape.
o
L IE a9 —_— Is he correct? How do you know? @
Zem 17 em
6em D ) Is m
Scm
A [
. A e E—
(e [Jom 2en]
3
4em on
|:| 7em
Discuss with @ partner how you worked them out. @
e Calculate the perimeter of these shapes. o Rosie is making shapes made up of 3 rectangles. @

a Each rectangle hes a length of 10 cm and @ width of 4 cm.

b)
She makes these 2 shapes.
10em 9.2 em 9.2 cm
4.cm A
2 em
I 35em 35em

@) Which shape has the greatest perimeter?
k) What other shopes can you make with 3 rectangles? @

l:’ \:I What is the perimeter of the shapes?




Calculate perimeter o Calculate the perimeter of these shapes.

a 8cm
—_—
’ ““I - Is -
-
° Caleulate the perimeter of each shope. Bam A N S WE R S
1em 1em b)
— —
a) |18 @ 18
H [k on
o Work out the missing lengths on these shapes. ° Mo thinks that there is not enough information to calculote the
perimeter of the shape.
10'cm, Is he correct? How do you know? @

17 ¢cm

— N, 51
7em The poruvgresr i3 S8em
Discuss with a partner how you worked them out. @
o Calculate the perimeter of these shapes. o Rosie is making shapes made up of 3 rectangles. OJ
a) b) Each rectangle has a length of 10 ¢m and a width of 4 em.

She makes these 2 shapes.

@) Which shape has the greatest perimeter? ‘L
b) What other shapes con you make with 3 rectangles? @
‘What is the perimeter of the shapes?




Plenary

Calculate periny rer

frue or Fafhse ?

To calculate the perimeter of a compound
shape, just add all of the lengths given.



Recap Session (20.mins)
Measwrement - .cm, .m

The key thing to remember w.ith
measurements is that:

lm = 100 .am

/3



Recap Session (20mins) 2/3
Measwrements

-‘ 310 cm | 3 mand 10 cm

320 cm m and cm
ED)
(You o)

Remember: Lm = 100.cm
therefore 2m = 200.cm
and 500em = 5 aom



3/3

How long will it take you to find the pairs?

Recap Session (20.mins) Ke}
Measwrements




Recap Session (20.mins) 1/2
Measwrements- .mun to .cm

When wsing millimetres .and centimetres to
measure length, you need to know this:

[0mum = lcm

therefore 20mm = 2 com

and 50ecm = 5 mumn



Recap Session (20mins)
Measuwrements - .mm .and .cm

Complete the bar models. -

c

cm mm 30 cm 1T mm

cm mm 30 cm 10 mm




Recap Session (20.mins)
Measwrements

8 M.atch the mm .and com

33

20cm Tmm
21cm
12cm
2cm
1cm

1T17cm 2mm

10cm 2 mm

20cm
2cm Tmm
2CmM 2mm



